LECTURE-FINANCIAL MANAGEMENT 
LEVERAGE ANALYSIS
TOOL FOR FINANCIAL & INVESTMENT DECISSIONS

Source: articlesbase.com
INTRODUCTION:

 Success of a firm depends on its ability to survive competition and grow consistently.  In order to grow, firms need to expand and such expansion requires heavy investments in both physical as well as intangible assets.  Firms need to continuously invest money in projects that reduce cost or improve quality or increase market share to acquire or sustain competitive strength and improve profitability.   Normally, investments of a company are determined on the basis of the macro economic environment, the allocation mechanisms through which capital moves from its holders to investment projects and the conditions surrounding specific investment projects.

In line of the above, it is felt that, Leverage is an important technique, helps the management to take sound, prudent, financial and investment decisions. It also helps to evaluate business, financial, total risk of any organization. The task of choosing most suitable combination of different techniques in the light of the firm’s anticipated securities for financing fund requirements earnings is facilitated by it.  In matters relating to investment also leverage technique is immensely helpful.  It acts as a useful guideline in setting the maximum limits by which the business of the firm should be expanded.  For example, the management is advised to stop expanding business the moment anticipated return on additional investment falls short of fixed charge of debt.

CONCEPT OF LEVERAGE

The dictionary meaning of the term ‘leverage’ refers to an increased means of accomplishing some purpose.  For example, leverage helps us in lifting heavy objects which may not be otherwise possible.  However in the area of finance, the term leverage has a special meaning.  It is used to describe the firm’s ability to use fixed cost assets or funds to magnify the return to its owners.

 James Horne has defined leverage as “the employment of an asset or funds for which the firm pays a fixed cost or fixed return.  Thus according to him leverage results as a result of the firm employing an asset or source of fund which has a fixed cost for return.  The former may be termed as “Fixed operating cost”, while the latter as ‘fixed financial cost’.  It should be noted that fixed cost or return is the basis of leverage.  Since fixed cost or return has to be paid or incurred irrespective of the volume of output or sales, the size of such cost or return has considerable influences on amount of profits available to the shareholders.

When the volume of sales changes, leverage helps in magnifying such influence.  It may, therefore, be defined as relative change in profit due to change in sales.  A high degree of leverage implies that there will be a large change in profit due to relative small change in sales or vice versa.  Thus higher the degree of leverages, higher is the risk and higher is the expected return.

TYPES OF LEVERAGES

(1)     Operating Leverage

(2)      Financial Leverage

FINANCIAL LEVERAGE: It represents the debt-equity structure and indicates the financial risk of a firm.  If the financial leverage is higher, it indicates that the firm has taken on a higher amount of financial risk, and it also conveys positive news about a firm’s capacity to service more debt. With    higher financial leverage being able to service debt better, it is likely that such firms opt for increasing debt.  The selection of the determinants of financial leverage is primarily based on the results of previous studies in the context of both developed and developing countries.  A review of literature shows that there are several firm specific factors that influence financial risk and debt-equity choice. There are various methods of measuring financial leverage such as: 

    Long-term Debt/Total Assets

    Long-term Debt/Equity and

    Total Debt/Equity

      Book values and market values are used to keep out fluctuations and to maintain consistency. 

   Debt-to-assets is the most often used measure of leverage in empirical studies. 

OPERATING LEVERGE:

Traditionally, Operating leverage represents the fluctuating business risk undertaken by a firm.  A priori, there should be a negative dependence between leverage and business risk.  Higher the operating leverage, lower would be the financial leverage.  This is because business risk is usually negatively related to the percentage of use of debt in the financial structure of the firm.  The operating leverage is measured as a percentage change in earnings by percentage change in sales. The idea is to examine how earnings would change when sales change, everything else remaining the same.  Thus, a firm with lower operating leverage is assumed to be in a better position to issue non-traditional debt. 

According to the trade-off theory, higher risk (earnings volatility) increases the probability of financial distress, and it indicates the extent to which the firm is susceptible to market fluctuations in terms of earnings and it predicts a negative relationship between leverage and risk.  The more volatile the firm’s financial position, the more would be the earning fluctuations, with low funds for debt servicing.  However, it is shown that for a negative relationship between risk and leverage, bankruptcy cost should be quite large.  Further it is argued that risk has negative relationship with long-term debt but positive relationship with short-term debt as high variability shifts financing from long-term debt to short-term debt and equity.  Empirical results do not provide an unequivocal answer to the relationship between risk and capital structure.          

As business risk cannot be observed, a number of proxies have been used to measure risk, according to the literature.  Some researchers have focused on using variability of firm income, which is measured by the first standard deviation of its earnings or operating income, popularly referred to as volatility of earnings.  This may not be optimal since the firms’ income is influenced by a number of factors outside its control and operating environment such as bankruptcy of a number of its customers.  Moreover, using an absolute value without referring it to some scale is, to a degree, meaningless and hence, risk should be measured according to some benchmark.  Given these objectives, a better measure of firm risk would be its beta (b) since it is quantified in relation to other companies included in the market portfolio.  Risky firms will prefer to use these sources of funds over debt since they do not have payments attached to them and hence, this source of funds over debt since they do not have payments attached to them and hence, this source of finance is more attractive to firms.

A company should try to have balance of the two leverages because they have got tremendous acceleration or deceleration effect on EBIT and EPS.  It may be noted that a right combination of these leverages is a very big challenge to the management.  A proper combination of both is a blessing for the firm’s growth while an improper combination may prove to be a curse.

Leverage Analysis
Source: richard-wilson.blogspot.com
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Solving Break-Even Analysis Problems
Source: vertex42.com

The formula used to calculate a breakeven point (BEP) is based on the linear Cost-Volume-Profit (CVP) Model which is a practical tool for simplified calculations and short-term projections. All the different types of break-even analyses are based on the following basic equation:

Break-Even Equation

Total Costs = Total Revenue

TC = TR

TFC + TVC = P × X

TFC + (V × X) = P × X

The variables and definitions used in the break-even equation are listed below.

P = Selling Price per unit

V = Variable Cost per unit.

X = Number of Units Produced and Sold

TR = Total Revenue = P * X

TC = Total Costs = TFC + TVC

TFC = Total Fixed Costs

TVC = Total Variable Costs = V * X

P-V = Contribution Margin per unit (CM)

CMR = Contribution Margin Ratio = (P - V) / P
Payback Period

The Payback Period is the time it will take to break even on your investment. In break-even analyses in which are solving for the break-even price or number of sales, the payback period is defined ahead of time. Depending on rate of change in your market, this may be a few months or a few years. Or, if you are just starting a business, your bank may want to see evidence that you will start making a profit after 18 months, or some other period.

Break Even Chart

The spreadsheet includes a break-even chart like the one shown below, which shows the Break-Even Point (BEP) as the intersection between the Total Revenue and Total Cost when plotted with the number of units on the x-axis. The Profit (or Loss) is also shown on the chart as Total Revenue - Total Cost.
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Formula to Calculate the Break-Even Point

You can find the basic breakeven point formula all over the place, and the formula that is most often given is for calculating the "Break Even Units", or the number of units that you'll have to sell to cover costs. Actually, there are many ways to define the break even point. You may want to solve for the total dollar sales to break even, what price you'll have to charge to break even. You may also want to calculate how long it will take you to break even, which is officially called the payback period.
Break-Even Units

The following formula is for calculating the number of units (X) you will have to sell over the specified period of time.

X = TFC / ( P - V )

X = TFC / CM

If you want to solve for the number of units required to reach a targeted Net Income Before Taxes (NIBT), then substitute (TFC+NIBT) for TFC in the above equation.

Break-Even Sales

The break-even sales amount (S) is just the total revenue (TR) at the break-even point, which can be calculated as S = X × P. The following formula, derived from TR = X × P is another way to calculate the break-even sales amount.

S = TFC / ( 1 - V / P )

S = TFC / CMR

The value (1 - V / P) is known as the Contribution Margin Ratio (CMR), which is basically just the percentage of revenue earned for each unit sale after subtracting out the variable costs:

CMR = 1 - V / P = (P - V) / P

Break-Even Price

To solve for the price, you can use the Goal Seek tool in Excel to set X to a certain value by changing the price.

The formula for solving for the break-even price requires you to break down the variable costs into dollar-based and percentage-based costs:

V = Vd + (Vp × P) = Variable Costs per unit

Vd = Total Dollar-Based costs per unit

Vp × P = Total Percentage-Based costs per unit

The following formula is used to solve for the sale price (P) required to break-even if you produce and sell X units during the specified payback period.

P = ( 1/(1-Vp) ) × ( Vd + (TFC / X) )

If you want to solve for the price required to reach a targeted net income before taxes (NIBT), then substitute (TFC + NIBT) for TFC in the above equation.

Payback Period

For very simple sales scenarios, the CPV model can be used to solve for the Payback Period, or the number of months required to break even. Like the other formulas, we start with TR = TC. Both the revenue and the costs may depend on time so we have to define a few new terms.

To calculate the payback period, the number of units sold (X) is specified as a number of units per month. The fixed costs are broken down further into Start-up Costs (SC) and Recurring Fixed Costs (RC). Start-Up Costs are the costs required to develop the product, or create the very first product. Recurring Fixed Costs are those which are paid monthly or annually but which are not directly tied to the number of units sold, like web-hosting fees, monthly advertising expenses, insurance premiums, etc.

t = Payback Period in months

TFC = SC + (RC × t)

TVC = V × x × t

SC = Total Start-up Costs

RC = Recurring Costs per month

x = Number of units sold per month = X / t

Payback Period (t) = SC / ( P×x - V×x - RC )

Break-Even Sales (S) = P × x × t

Example: The selling price for an iPhone application is P=$1.99 and I expect to sell x=450 units per month. The development cost of the application is SC=$7,500 and my recurring monthly fees for advertising and web hosting come to RC=$65.00/month. I am charged a commission of Vp=30% to sell the app from iTunes. Result: The break-even spreadsheet calculates the payback period to be 13.35 months, which I'd round up to 14 months (because fractional recurring costs don't make sense in this case).

Important: This calculation should only be used as a rough estimate. It does not take into account the time value of money, risk, interest, financing, opportunity costs, etc. The financial formulas NPV and IRR are usually better for calculating the return on an investment.
Degree Of Operating Leverage – DOL
What Does Degree Of Operating Leverage - DOL Mean?

A type of leverage ratio summarizing the effect a particular amount of operating leverage has on a company's earnings before interest and taxes (EBIT). Operating leverage involves using a large proportion of fixed costs to variable costs in the operations of the firm. The higher the degree of operating leverage, the more volatile the EBIT figure will be relative to a given change in sales, all other things remaining the same. The formula is as follows:
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Investopedia explains Degree Of Operating Leverage - DOL

This ratio is useful as it helps the user in determining the effects that a given level of operating leverage has on the earnings potential of the firm. This ratio can also be used to help the firm determine the most appropriate level of operating leverage in order to maximize the company's EBIT.
How to Calculate the Degree of Operating Leverage
Operating leverage is a measure of the return on fixed assets. Specifically, it is the ratio between a change in profits and a change in revenue. Investors view the ratio as a measure of a firm's operating risk. A higher ratio is a sign of increased variability in revenue and therefore higher risk.
1  Review the formula. The degree of operating leverage (DOL) is equal to the percent change in profit divided by the percent change in sales.

2 Define your product price, cost per unit (variable), fixed costs and number of units sold. These are the primary variables in the calculation. For an example, say the price of the product is $100, the cost per unit (variable) is $20, the fixed cost is $20,000 and 10,000 units are sold.

3  Calculate total profit. This equals price ($100) - variable cost ($20) or $80. Multiply this by number of units (10,000) for a total profit of $80,000.

4 Calculate total revenue. This equals total profit ($80,000) - fixed costs ($20,000) or $60,000.

5 Calculate the degree of operating leverage (DOL). Divide total profit ($80,000) by total revenue ($60,000). The answer is 1.33. As this is a ratio, this means that a 1 percent change in sales results in a 33 percent change in profits.

What are the risks of having both high operating leverage and high financial leverage?
In finance, the term leverage arises often. Both investors and companies employ leverage to generate greater returns on their assets. However, using leverage does not guarantee success, and the possibility of excessive losses is greatly enhanced in highly leveraged positions. For companies, there are two types of leverage that can be used: operating leverage and financial leverage.

Operating leverage relates to the result of different combinations of fixed costs and variable costs. Specifically, the ratio of fixed and variable costs that a company uses determines the amount of operating leverage employed. A company with a greater ratio of fixed to variable costs is said to be using more operating leverage. If a company's variable costs are higher than its fixed costs, the company is said to be using less operating leverage. The way that a business makes sales is also a factor in how much leverage it employs. A firm with few sales and high margins is said to be highly leveraged. On the other hand, a firm with a high volume of sales and lower margins is said to be less leveraged.

Financial leverage arises when a firm decides to finance a majority of its assets by taking on debt. Firms do this when they are unable to raise enough capital by issuing shares in the market to meet their business needs. When a firm takes on debt, it becomes a liability on which it must pay interest. A company will only take on significant amounts of debt when it believes that return on assets (ROA) will be higher than the interest on the loan.

A firm that operates with both high operating and financial leverage makes for a risky investment. A high operating leverage means that a firm is making few sales but with high margins. This can pose significant risks if a firm incorrectly forecasts future sales. If a future sales forecast is slightly higher than what actually occurs, this could lead to a huge difference between actual and budgeted cash flow, which will greatly affect a firm's future operating ability. The biggest risk that arises from high financial leverage occurs when a company's ROA does not exceed the interest on the loan, which greatly diminishes a company's return on equity and profitability.
Operating Leverage

What Does Operating Leverage Mean?

A measurement of the degree to which a firm or project incurs a combination of fixed and variable costs. 

1. A business that makes few sales, with each sale providing a very high gross margin, is said to be highly leveraged. A business that makes many sales, with each sale contributing a very slight margin, is said to be less leveraged. As the volume of sales in a business increases, each new sale contributes less to fixed costs and more to profitability. 

2. A business that has a higher proportion of fixed costs and a lower proportion of variable costs is said to have used more operating leverage. Those businesses with lower fixed costs and higher variable costs are said to employ less operating leverage.
Cost Of Capital

Source: investopedia.com
What Does Cost Of Capital Mean?

The required return necessary to make a capital budgeting project, such as building a new factory, worthwhile. Cost of capital includes the cost of debt and the cost of equity. 

Investopedia explains Cost Of Capital

The cost of capital determines how a company can raise money (through a stock issue, borrowing, or a mix of the two). This is the rate of return that a firm would receive if it invested in a different vehicle with similar risk.
Cost Of Debt
What Does Cost Of Debt Mean?

The effective rate that a company pays on its current debt. This can be measured in either before- or after-tax returns; however, because interest expense is deductible, the after-tax cost is seen most often. This is one part of the company's capital structure, which also includes the cost of equity. 

Investopedia explains Cost Of Debt

A company will use various bonds, loans and other forms of debt, so this measure is useful for giving an idea as to the overall rate being paid by the company to use debt financing. The measure can also give investors an idea as to the riskiness of the company compared to others, because riskier companies generally have a higher cost of debt.

To get the after-tax rate, you simply multiply the before-tax rate by one minus the marginal tax rate (before-tax rate x (1-marginal tax)). If a company's only debt were a single bond in which it paid 5%, the before-tax cost of debt would simply be 5%. If, however, the company's marginal tax rate were 40%, the company's after-tax cost of debt would be only 3% (5% x (1-40%)).
Cost Of Equity

What Does Cost Of Equity Mean?

In financial theory, the return that stockholders require for a company. The traditional formula for cost of equity (COE) is the dividend capitalization model: 
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A firm's cost of equity represents the compensation that the market demands in exchange for owning the asset and bearing the risk of ownership. 

Investopedia explains Cost Of Equity

Let's look at a very simple example: let's say you require a rate of return of 10% on an investment in TSJ Sports. The stock is currently trading at $10 and will pay a dividend of $0.30. Through a combination of dividends and share appreciation you require a $1.00 return on your $10.00 investment. Therefore the stock will have to appreciate by $0.70, which, combined with the $0.30 from dividends, gives you your 10% cost of equity. 

The capital asset pricing model (CAPM) is another method used to determine cost of equity.
What Does Capital Asset Pricing Model - CAPM Mean?

A model that describes the relationship between risk and expected return and that is used in the pricing of risky securities.
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The general idea behind CAPM is that investors need to be compensated in two ways: time value of money and risk. The time value of money is represented by the risk-free (rf) rate in the formula and compensates the investors for placing money in any investment over a period of time. The other half of the formula represents risk and calculates the amount of compensation the investor needs for taking on additional risk. This is calculated by taking a risk measure (beta) that compares the returns of the asset to the market over a period of time and to the market premium (Rm-rf).
Investopedia explains Capital Asset Pricing Model - CAPM

The CAPM says that the expected return of a security or a portfolio equals the rate on a risk-free security plus a risk premium. If this expected return does not meet or beat the required return, then the investment should not be undertaken. The security market line plots the results of the CAPM for all different risks (betas).

Using the CAPM model and the following assumptions, we can compute the expected return of a stock in this CAPM example: if the risk-free rate is 3%, the beta (risk measure) of the stock is 2 and the expected market return over the period is 10%, the stock is expected to return 17% (3%+2(10%-3%)).
Cost of Capital atau Biaya Modal
Coc adalah yang menghubungankan keputusan investasi jangka panjang dan kekayaan pemilik perusahan. Coc digunakan untuk memutuskan apakah investasi yang diajukan akan menaikkan atau menurunkan harga saham perusahaan. Coc adalah return yang harus diterima dari investas suatu proyek agar dapat menjaga nilai pasar saham.Coc adalah biaya yang harus dikeluarkan untuk mendapat modal. Contoh sederhana jika anda meminjang uang di bank tentu ada bunganya. Bunga itu adalah cost of capital. Coc dihitung dari perhitungan setelah pajak.

Macam Coc :

Long Term Debt (bonds / obligasi disebut cost of debt. Simbolnya Kd / Ki

Preferred Stock disebut Cost of preferred stock. Simbolnya Kp

Common Stock disebut Cost of Equity. Simbolnya Ke atau Kr atau Kn
Cost of Debts (Cod)

Before tax Cod bisa dihitung dengan beberapa cara :

1. Menggunakan Cost Quotation. Jika net porceeds dari penjualan bond = bond's par value, maka before tax xost = coupon interest rate/ yield to maturity (YTM).

2. Menggunakan IRR. YTM bisa dihitung dengan trial and error, financial calculator / spreadsheet.

3. Memperkirakan biaya

Contoh soal :

Tahun Cash Flow

ke-1 960

2-19 -90

ke-20 -1000

Kd = [90 + {(1000-960):20}] : [{960 + 1000}:2] = [90+2]:980 = 9,4%

After Tax cod

pajak 40%

Kj = Kd x (1- tax)

Kj = 9.4% x (1-0,4)=5.6%

Cost of Preffered Stock (cops)

Dari soal di atas akan dikual 10% preffered stock dengan harga $87 per share value. Biaya jual beli stick = $5 per share.

Dividen = $8.7 x (10% x $87)

Net Proceed Price (Np) = $82) ($ 87- $5)

Kp = Dp : Np = $8.7 : $82 = 10,6%

Cost of Common Stock (coe)

Memiliki 2 bentuk yauty retained earnings dan new issues. Ada 2 cara untuk menghitung coe yaitu dengan dividend valuation model (DVM) dan capital asset pricing model(CAPM).

Dividen valuation model didasarkan pada alasan bahwa nilai pembagian value tergantung pada present value dari semua future dividen.

Constant Growth Model :

Ks = (D1 : Po) + g

CAPM Cost of Common Equity

Ke = rf + b(km-Rf)

CAPM berbeda dengan DVM. Dengan CAPM perusahaan bisa mengetahui risiko perusahaan dari beta (b). DVM tidak secara ekxplisit menunjukkan risiko yang harus ditanggung perusahaan.DVM menggunakan market price untuk merefleksikan expected risk return yang lebih disukai oleh investor. Meskipun keduanya secara teoritis sama, DVM lebih sering dipakai dan disukai karena data yang diperlukan ada. DVM bisa disesiuaikan untuk flotation cost saat memperhitungkan coe.

Cost of Retained Earnings (core) dihitung dengan menggunakan 

constant dividen growth model.

ks = D1/Po +g.

Sebagai contoh, sebuah perusahaan baru saja bayar dividen $2.5 per sahre, diharapkan dividen berkembang 10% dan harga jual saat ini 50 per share.

D1 = $2.5 x (1+10) = $2.75

ks = $2.75 : $50) + 0.1 = 15,5%

Security Market Line Approach

ks = rf + b (km- Rf)

Contoh :

JIka 3 bulan T-bill rate saat ini adalah 5%, market risk premium adalah 9%, dan beta perusahaan adalah 1,2

core = ks = 5% + (1,2% x 9%) = 15.8%. Di poin ini kita bisa memilih 1 atau 2 perhitungan atau rata-ratanya.

Cost of New Equity dihitung dengan menggunakan Constant Dividend Growth Model

kn = D1 (Nn-g)

Contoh soal sama dengan contoh soal core yang dihitung dengan constant dividen growth model. Berapa banyak biaya yang dibutuhkan untuk meningkatkan new equity bila jumlah flotation costs $4.00 per share

Kn = [ $2.75 : ($50-$4)] + 0,1 = 15,97% atau 16 %
Risk management
Source: en.wikipedia.org
Risk management is the identification, assessment, and prioritization of risks (defined in ISO 31000 as the effect of uncertainty on objectives, whether positive or negative) followed by coordinated and economical application of resources to minimize, monitor, and control the probability and/or impact of unfortunate events or to maximize the realization of opportunities. Risks can come from uncertainty in financial markets, project failures, legal liabilities, credit risk, accidents, natural causes and disasters as well as deliberate attacks from an adversary. Several risk management standards have been developed including the Project Management Institute, the National Institute of Science and Technology, actuarial societies, and ISO standards.Methods, definitions and goals vary widely according to whether the risk management method is in the context of project management, security, engineering, industrial processes, financial portfolios, actuarial assessments, or public health and safety.

The strategies to manage risk include transferring the risk to another party, avoiding the risk, reducing the negative effect of the risk, and accepting some or all of the consequences of a particular risk.

Certain aspects of many of the risk management standards have come under criticism for having no measurable improvement on risk even though the confidence in estimates and decisions increase.
Method

For the most part, these methods consist of the following elements, performed, more or less, in the following order.

· identify, characterize, and assess threats

· assess the vulnerability of critical assets to specific threats

· determine the risk (i.e. the expected consequences of specific types of attacks on specific assets)

· identify ways to reduce those risks

· prioritize risk reduction measures based on a strategy

Principles of risk management

The International Organization for Standardization (ISO) identifies the following principles of risk management:

Risk management should:

· create value

· be an integral part of organizational processes

· be part of decision making

· explicitly address uncertainty

· be systematic and structured

· be based on the best available information

· be tailored

· take into account human factors

· be transparent and inclusive

· be dynamic, iterative and responsive to change

· be capable of continual improvement and enhancement
Potential risk treatments

Once risks have been identified and assessed, all techniques to manage the risk fall into one or more of these four major categories:

· Avoidance (eliminate, withdraw from or not become involved)

· Reduction (optimise - mitigate)

· Sharing (transfer - outsource or insure)

· Retention (accept and budget)
The 3 Types of Investment Risk

The Basics of Risk Management

By Joshua Kennon, About.com Guide
Investment Risk #1: Business Risk

Business risk is, perhaps, the most familiar and easily understood. It is the potential for loss of value through competition, mismanagement, and financial insolvency. There are a number of industries that are predisposed to higher levels of business risk (think airlines, railroads, steel, etc).
Investment Risk #2: Valuation Risk

Recently, I found a company I absolutely love (said company will remain nameless). The margins are excellent, growth is stellar, there is little or no debt on the balance sheet and the brand is expanding into a number of new markets. However, the business is trading at a price that is so far in excess of it’s current and average earnings, I cannot possibly justify purchasing the stock. 

Why? I’m not concerned about business risk. Instead, I am concerned about valuation risk. In order to justify the purchase of the stock at this sky-high price, I have to be absolutely certain that the future growth prospects will increase my earnings yield to a more attractive level than all of the other investments at my disposal. 

The danger of investing in companies that appear overvalued is that there is normally little room for error. The business may indeed be wonderful, but if it experiences a significant sales decline in one quarter or does not open new locations as rapidly as it originally projected, the stock will decline significantly. This is a throw-back to our basic principle that an investor should never ask "Is company ABC a good investment"; instead, he should ask, "Is company ABC a good investment at this price."
Investment Risk #3: Force of Sale Risk

You’ve done everything right and found an excellent company that is selling far below what it is really worth, buying a good number of shares. It’s January, and you plan on using the stock to pay your April tax bill. 

By putting yourself in this position, you have bet on when your stock is going to appreciate. This is a financially fatal mistake. In the stock market, you can be relatively certain of what will happen, but not when. You have turned your basic advantage (the luxury of holding permanently and ignoring market quotations), into a disadvantage. 

Consider the following: If you had purchased shares of great companies such as Coca-Cola, Berkshire Hathaway, Gillette and Washington Post at a decent price in 1987 yet had to sell the stock sometime later in the year, you would have been devastated by the crash that occurred in October. Your investment analysis may have been absolutely correct but because you imposed a time limit, you opened yourself up to a tremendous amount of risk.
Methods of Calculating Total Risk
Source: tutorsonnet.com

The risk associated with a single asset is measured from both a behavioural and a statistical (quantitative) point of view. 

The behavioural risk view is measured using:

Sensitivity analysis and

Probability distribution

The statistical risk view is measured using:

Standard deviation and

Coefficient of variation.

Behaviour Risk views: 

Sensitivity analysis 

Sensitivity analysis is one of the simplest ways of handling risk. It consists of examining the magnitude of change in the rate of return for the project, for a small change in each of its components which are uncertain. The best possible way is to select these variables whose estimated value may contain significant errors or element of uncertainty and then to calculate the effect of errors of different sizes on the present value of the project. Some of the key variables are cost, price, project life, market share etc. Sensitivity analysis takes into account a number of possible outcome estimates while evaluating an asset risk. In order to have a sense of the variability among return estimates, a possible approach is to estimate the worst(pessimistic), the expected(most likely) and the best(optimistic) returns associated with the asset. The difference between the optimistic and the pessimistic outcomes is the range, which according to the sensitivity analysis is the basic measure of risk. The greater the range, the more is the risk and vice versa.

Example: 

      Particulars 
                      Asset X 
   Asset Y 

Initial investment(t=0) 
             50 
      50 

Annual return(%) 



Pessimistic 
                                     13 
       7 

Most likely 
                                     15 
      14 

Optimistic 
                                     17 
       21 

Range 
                                                   4 
       14 

Asset Y is more risky than Asset X on the basis of annual returns.
Probability distribution 

Probability may be described as the measure of likelihood of an event’s occurrence. The risk associated with an asset can be assessed more accurately by the use of probability distribution than sensitivity analysis. For example, if the expectation is that a given outcome or return will occur six out of ten times, it can be said to have sixty percent chance of happening; if it is certain to happen, the probability of happening is 100%. An outcome which has a probability of zero will never occur. So, on the basis of the probability distributed or assigned to the rate of return, the expected value of the return can be computed. The expected rate of return is the weighted average of all possible returns multiplied by their respective probabilities and those probabilities of the various outcomes are used as weights. The expected return(R), 

R = ∑ n Ri x Pri 

      i=1 

Where: 

Ri 
= 
Return for the ith possible outcome 

Pri 
= 
Probability of its outcome / return 

n 
= 
Number of outcomes considered 

Example: 

Let us calculate the expected return of two assets X & Y, whose probability of generating pessimistic returns of 13% and 7% is 30%, most likely returns of 15% and 14% is 30% and optimistic returns of 17% and 21% is 40%, respectively. 

Possible outcomes 
Probability 
Returns 
Expected Returns 

ASSET X 
                  (P)    
(R) 
            (P x R) 

Pessimistic 
                 0.30 
13% 
            3.9 

Most likely 
                 0.30 
15% 
             4.5 

Optimistic 
                 0.40 
17% 
             6.8 

Expected return =15.2 

ASSET Y 




Pessimistic 
                   0.30 
7% 
              2.1 

Most likely 
                   0.30 
14% 
             4.2 

Optimistic 
                   0.40 
21% 
             8.4 

Expected return =  14.7 

From the above risk analysis, Asset X seems to have a higher expected return and would be preferred over Asset Y.

Standard Deviation: 

The most common statistical measure of risk of an asset is the standard deviation from the mean or expected value of return. It represents the square root of the average squared deviations of the individual returns from the expected returns. The standard deviation can be represented as thus: 

 Formula:  σ = √∑ n (Ri - R)2 x Pri 

Standard deviation of Asset X = √2.80 = 1.67% 

Standard deviation of Asset Y = √34.3 = 5.86% 

If the standard deviation is greater, the variability and thus risk is also greater and vice versa. According to this measure, Asset Y is riskier than Asset X.

Coefficient of variation: 

It is a measure of relative dispersion or a measure of risk per unit of expected return. It converts standard deviation of expected values into relative units and thus facilitates comparison of risks associated with assets having different expected values. It is calculated by dividing the standard deviation of an asset by its expected value. 

CV = σr √R 

Example: Let us calculate the coefficient of variations for the assets X and Y(data as given above). 

CV of asset X => 1.67 / 15 => 0.111 

CV of asset Y => 5.86 / 14 => 0.419 

If the coefficient of variation is greater, the risk is greater and vice versa. According to this measure, Asset Y is riskier than Asset X. As this measure considers the expected value of assets, it is considered the best method for comparing risks.
Beta Calculation

Beta measures the risk or volatility of an individual asset relative to the market portfolio. It is the covariance of the asset's return with the market portfolio's return, divided by the variance of the market portfolio. 

β = Covim /  σ2 m   

Systematic risk is measured by beta. A particular stock's beta can help one predict how much the security will go up or down, provided one knows which way the market will go, and therefore figure out risk and expected return. Under the Capital Asset Pricing Model, there is a relationship between a stock's expected or required return and its beta. The following formula is very helpful in determining a stock's expected return.

rj = rf + b(rm - rf) 

or 

Expected return = Risk free rate + Beta (Market risk premium)
Concept of Leasing 
The concept of leasing business should be understood in the following sense:

www.basicneeds-ctx.org

This is a contract in which the tenant receives also the place where you develop your business, the business or industry established in the same, so that the contract is not limited to leasehold, but extend the contract including equity unit with its own life and likely to be immediately exploited, or actually entering the operating conditions of administrative formalities, (Directorate General of Taxes in consultation dated April 5, 1999). The lease or sublease of business should be designed in addition to local, defined as surface or “habitat” necessary to carry out the activity, necessary elements for the same, ie the elements that provide the fundamental property rental business must be a autonomous economic entity.
Concept of Stuctured Leases 

www.plc.lk

Leasing (sometimes known as lease rental) can be defined as the contract granting use of real estate, equipment or other fixed assets for a specified time in exchange for payment, usually in the form of rent. The owner of the leased property is called the lessor, the user the lessee. When structured as an operating lease, this is a form of financing that avoids the down payment usually required for the purchase of equipment. Because leased equipment is not owned by the company, it does not appear on the balance sheet. A financing lease does appear on the balance sheet.
Lease Broker 

Any broker who arranges a lease between a lender and a lessee. 

Lease Purchase/Hire Purchase

System of purchase by paying in installments. 

Balloon Lease 

Balloon leases or loans are those in which repayments are not made in a regular manner, but are made, as funds become available, in balloons. 

Capital Lease 

One where substantially all of the benefits and risks of ownership are transferred to the lessee. It must be reflected on the company's balance sheet as an asset and corresponding liability. 

Operating Lease 

One where the risks and benefits, as well as ownership, stays with the lessor. 

Sale and Leaseback 

An agreement in which the owner of a property sells that property to a person or institution and then leases it back again for an agreed period and rental.

Concept of Structured Leases 

· Step Up

· Balloon

· Residual value

These are leases where the payment pattern of the lease is structured or pre-set according to the cash flow patterns of the lessee. This method is a technique outside the normal lease structure where the lessee has to pay a fixed monthly rental amount throughout the lease period. 

E.g : A step up lease is where the lease rentals are arranged in such a way where the earlier lease rental amounts are lesser than the rentals closer to the end of the lease period (i.e. the lease rental amount gradually increases during the lease period).

Balloon/Residual leases are where the lessee has to pay a lump sum amount at the end of the lease period rather than at the beginning as a down payment.
Types of leasing

businesslink.gov.uk

There are different kinds of lease arrangement. It makes sense to consider them all to see which is best suited to your business, your particular circumstances and the asset that you are acquiring.

The three main types of leasing are finance leasing, operating leasing and contract hire.

Finance leasing

A long-term lease over the expected life of the equipment, usually three years or more, after which you pay a nominal rent or can sell or scrap the equipment - the leasing company will not want it any more.

The leasing company recovers the full cost of the equipment, plus charges, over the period of the lease.Although you don't own the equipment, you are responsible for maintaining and insuring it. You must show the leased asset on your balance sheet as a capital item, or an item that has been bought by the company. Leases of over seven years, and in some cases over five years, are known as 'long-funding leases' under which you can claim capital allowances as if you had bought the asset outright.

Operating leasing

A good idea if you don't need the equipment for its entire working life. The leasing company will take the asset back at the end of the lease.The leasing company is responsible for maintenance and insurance. You don't have to show the asset on your balance sheet.

Contract hire

Often used for company vehicles.The leasing company takes some responsibility for management and maintenance, such as repairs and servicing. You don't have to show the asset on your balance sheet.
Commercial Lease Calculations Tools

realestate.about.com
Commercial and retail leases use various rental pricing methods. The decision as to which commercial lease calculation method to use is frequently related to the type of tenant business. It could also have to do with the economy, balancing a need to retain an occupant with their ability to pay based on their business revenues.

Rent per square foot - Rent is set at $xx.xx per square foot of the leased space. This can be expressed either as an annual or a monthly amount.

Example with annual quote: A 2200 square foot office space is quoted a rent of $11.50 per square foot. 2200 X $11.50 = $25,300 per year for rent.

Example, same building and rent for monthly amount: 2200 X $11.50 = $25,300 Divide by 12 months to get a monthly rental amount of $2108.33.

Percentage Lease - Retail volume can vary significantly due to many factors, including the economy and also location. For this reason, it is a common practice for a landlord, in their commercial lease calculation, to determine a base rent that they absolutely need, and then to have the tenant pay a percentage of their retail gross income in addition to the base rate. This is logical as, if the location is a good one, then retail sales should rise and enable the tenant's ability to pay higher rent. There are two ways in which the percentage is normally calculated:

Minimum base rent + percentage over a certain base amount: In this case, the tenant pays a minimum base monthly rent, and then adds a percentage of all gross receipts over a certain base amount. Example: $1000 per month base rent, and 5% of all gross receipts over $50,000 per month. Using one month's gross receipts of $72,000, we do the calculation this way:

$72,000 - $50,000 = $22,000. $22,000 X .05 = $1100. $1100 + base of $1000 = month's rent of $2100.

Minimum base rent + percentage of all gross receipts: Here, we don't set a bottom line revenue before the percentage kicks in. Rent is paid on all gross receipts from $zero. Example: $500 base rent + 2% of gross business receipts. If we use the previous numbers, we'd take 2% of the entire $72,000 and add that to the base rent, as here:

$72,000 X .02 = $1440. $1440 + $500 = monthly rent of $1940.

	Commercial Lease Calculations
	

	    ** Replace numbers in black, blue will calculate

	1.  Rent per square foot
	
	

	                    Square feet
	2200.00
	

	           $$ per square foot
	11.50 
	

	
	
	

	Annual rental amount
	   25,300.00 
	

	Monthly rental amount
	2,108.33 
	

	
	
	

	2.  Percentage Lease
	
	

	   a.  Base + % over min
	
	

	               Base rental $$
	1,000.00 
	

	           Min base gross $
	 50,000.00 
	

	            % of $$ over min
	5%
	

	        Gross receipts total
	72,000.00 
	

	
	
	

	    Monthly rental amount
	2,100.00 
	

	
	
	

	   b.  Base + all gross %
	
	

	               Base rental $$
	500.00 
	

	            % of $$ over min
	2%
	

	        Gross receipts total
	72,000.00 
	

	
	
	

	    Monthly rental amount
	1,940.00 
	


PAGE  
1
file: jakartaprofessional.wordpress.com

